Tel : 0-2877-1140-1

J
luRes 4" § 163w
L > U6 UL,

>UN 2.2 .

StockID

a k4
aunl

11496

Tan 1wl 99 100,

10691

4
luiRes 4" 114

10692

4
luiRes 4" v

6762

luides Eclipse 18¥u

6765

luides Eclipse 24y

6760

Gl‘]Jl,ﬁfJfJ Nicholson 18

6763

Gl‘]Jl,ﬁfJfJ Nicholson 241

10661

ADUIUAT 3 WIAT

7523

ADULUAT 5 AT

6746

[

ANAYA VUIA 1/8" - 3/4"

q

9 = = = o
MU 2" x 8 W 7 & - 1Y, 1N, A1, LAY,

Y Y

113U, 109, 11894

10710 |Yszuauniutnethnee # 6 15001 |Uszuauniudnathame # 15
6471  [Uszuaumiudnathnane #7 15002 |Uszuauniutnethnee # 17
6474  [Uszuaumiudnathnane #8 14934 |Yszuauniutnethnee # 19
6477 |Uszuaumiudnathnane #9 14935 |Uszuauniudnathame # 21
6480  [Uszuaumaudnathnane # 10 15279 |Yszuauniutnethnee # 24
6483 [Uszuauniudnathnae # 11 14936 |Uszuauniutnethnee # 26
6486  [Uszuauniudnathnane # 12 14937 |Yszuauniutnethnee # 27
6490  [Uszuauniudnathnane 13 15003 |Uszuauniutnethnee # 30
6493  [Uszuauniudnathnane # 14 15004 |Uszuauniutnethnee # 32

JUN: 22/5/2009

Y
HUIMN

78




Shipshape Sea Store Co.,ltd. Tel : 0-2877-1140-1

StockID aum

1| 5781 |msearadae 2.5 M10x 1.25

2| 5782 |uilseanadoie 2.5 M10x 1.5

3| 5786 |uilsesadadie onitle 2.5 M10x 1.25

4l 5787 |wsearadae dnidle 2.5 M10x 1.5

5| 5790 |wilseadndae noandes 3" g 5/8"

6] 5768 !Lﬂiﬂﬁ’)ﬂﬂﬂﬂtﬂﬁﬂﬂ 5107

71 5766 !!,‘]J‘Na’llmﬁ’a,ﬂ 51407

8 7119 |mvigaaiilyu 500cc

o| 10748 |[vIIaunden

10[ 10737 |Wawaesing 4", 9 20 lu

11| 10738 |[Waaosing 4", ya 26 1y

12| 10739 |Waaesing 6", 9 20 lu

<3 =l 9 4
13| 10709 [dszumvaenis 2 119 1wos 30 x 32

JuR: 22/5/2009 nm ; 79




Shipshape Sea Store Co.,ltd. Tel : 0-2877-1140-1

GHT Y

:.-EF‘&;';""" sE

L .
ULl

U is —
Auarsumiudanuan MAuduuwmIudaniu

StockID aum

1l 7151 |Avihouvay 6"

2| 7158  |Avihnuviay 8

3l 7137 |Awihnasan 6"

4 7139 |Awihnasan 8"

5| 6642  |Auduuviig Uaneanse 5.5"

6| 6643 |Audvuuriiv Uaneasa 7"

7| 16404 [Anduuriiu Uatess 5.5"

8| 6644 |Auduundu tareae 7"
9| 14175 |AuanaumIu larense 55"
StockID aum 10| 6638 [Ana1anIY danease 7"
20{ 7134 [lupesge dunzqg 769 11| 6639 [Ava1aunIy datese 5.5
21| 6684 |lunesgn Talu wuilon 12| 6640 [Ava1aunIY darese 7

13| 6630 |AuAeaiinasa 10"

StockID | lunasdamzg | | StockiD | lumasdmumzg | 14| 14991 [ilszuadunihl g
6658 | lupaa(+)4" 6651 | lwpra(-)4 | 15| 14938 |uszuadundlyl 127
6660 | lupaa(+)6" 6653 | lumaa(-)6" | 16| 14939 |iszuaduuihl 18"
6661 | luaaa(+)8" 6654 | lupra(-)8" | 17| 14940 |ilszuaduuilyl 247
6662 | luaag (+) 10" 6655 | lvaa(-)1om| 18] 7578 [feeuanginderdie 6 &
6663 | lupag (+) 12" 6656 | lvaa(-)12n| 19| 6586 [mnmAsuaa 1.5 - 12w,

JuR: 22/5/2009 nm ; 80




Shipshape Sea Store Co.,ltd.

@SHAHTAH

1/2"Dr.
bocket Wrench Set

Tel : 0-2877-1140-1

1(3) (o )

) (=

X

) (

J{ &

=] WOBBLE EXTENSION BAR

10" SLIDING T BAR

—_— QUICK RELEASE RATCHET HANDLE
€

1/2"DR 12PT

SOCKETS MM ': "‘

=== ()
SO

S—

1/2'DR. 12PT (23>
SOCKETS MM

HEE)

udenya 24 3

YUIA LU 1/2" (Square Drive)
szneudas gnuden wes 9, 10, 11,
12,13, 14, 15, 16, 17, 18, 19, 20, 21, 22
23,24, 27,30 1@ W03 32

dudeu 10, Tade 10", Tase 5"
&1W3 a2 Universal Joint 86190234

1359 0g lunaoInaaANd19A

1N30910119 AUMN SATA

Hana1n 1saau 1énTu ﬁmuqu
1193511 1A81UTEN DANAHER USA.
Faaasusuludingas Fortune 500
nanduAszaninieile nold
nususEIalan Armstrong,
Matco, Oallen, KD Tools, Jacobs, SATA

ey 2515zmeanalan

StockID

a v
aunal

7528

az luganes v 4" (104/%49)

6713

Y
ADUKIOU ABNAZ1

6714

AouAzaiy 08198 200 NTY

6715

AouAZaiY 08198 300 NTU

6717

AouAzaily U 500 NF

6698

4 4
Foudous + a1y 2 Yous

6700

4 4
Foudous + a1y 4 Youa

6702

o 4
Foudoua + a1y 6 Uoud

10711

A = ] . .
Yunalaa Engine Cleaning Gun

15574

szuaaon 8"

15571

Uszuaaon 10"

15575

Uszuaaon 12"

14942

UAONYA 24%U Drive 1/2" # 9-32mm

SUN: 22/5/2009

nm ; 81




